1

0GEOLLIS
('ON HNIMVYQ) &R E X

DCF-C-2131 (20. 02)

POLARIZING KEY

(ITEM ORDERED SEPARATELY)

&R A — (Bl

fh)

PART No. 4

:201-50041-002 (QE-POL-KEY2)

DWG No. #5FFES:SJ108043

INSULATION RESISTANCE
APPLICABLE WIRE

:5000M Q2

10. 2~ 2mri
(INSULATION OUTER DIA. 4. 1mm MAX.)

VOLTAGE:2000VAC FOR 1 MINUTE

MIN. (AT 500VDC)
x 44

i\ )
g4 g\
T = [ gl
SEMUSU-SCREW  {{{®
08 L AL
- (2. 5) IRl
@B REFERENCED DRAWING
SEK
SPECIFICATION
DIELECTRIC WITHSTANDING

i

&

GRIER

B —J L0, 2~2mi
(kb oM

:AC. 2000Vr. m. s. (143fE)
:5000M Q2 LL_E (DC. 500V(=T)

14K
Q4. 1LLF)

NOTE 1. CONTACTS ARE SOLD SEPARATELY.
THEIR PART NUMBERS ARE SHOWN BELOW.

TABLE 1
=1
PART No. #&#% DWG. No. %
SOCKET CONTACT :QEP-16-3% SJ013832

£\ 2.PART NUMBER, COMPANY LOGO “JAE” AND
LOT NUMBER ARE MARKED AS INDICATED.

(SEMUSU-SCREW) (M3)

(ELRHL)

i £AH o No = w N £ B N
VER. DATE ) DESCRIPTION DR. CHK. APPD. APPD.
2 26/JUN/2020 034859 CHANGED NOTE — K. KAJTHARA T. TAKESHITA E. MATSUMOTO

PR

o

19 |
(CABLE ENTRY) i il
(=TT R1)—) ! Hing
!é;ﬁ] 5
OsinmiNG
21
30
(NOTE 1)
3 +0.2 @
(=
m- | D
So [
3 A-A
DEglggﬁ;JON
A QF4G044
SERIES MODIF ICATION
D) —X4 ET4277A4

CONNECTOR TYPE G:ANGLE TYPE
ARV GCTZUTILEA4T
No. OF CONTACTS
044:44 CONTACTS
g 044:447%

CONTACT TYPE M:PIN CONTACT
(MACHINED-VERSION)
aVA MERIME>aY A bk
(Bn8l&)

1L aVE Y MIRIFEY THAIDTRIOREZSHOL, FAIRILTTEIL,
A 2BEROEEICREA. #HARUDY FEESERTT S,

o
N
~
(110) N
53
o
N
o / d’ 23
/ Nb
= g
'
8y -1 N\ O| N N ) (2. 5) 2
el > g SEMUSU-SCREW) (M2. 5 =
. o | @ (B Lz L) =l
\ ! V/‘\\ \
@ | \’ ;
E— o I ,// SCREW FOR FIXING JUNCTION SHELL (SEMUSU-SCREW) (M2.5)
< o A vy a iz )VEERABL (ELARPL)
L | (0] I
|0 - <
- -- | !HH - @
A 0l
( I
® '
85.4 |
SCREW FOR FIXING INSULATOR (SEMUSU-SCREW) (M2.5)
1222 L—3EERARC (ELRRCE)
A,
===
I 1 ‘H m 1 1
£ ]f‘\ D _ DD MDD DD DD DD OD_ D LD
I XA A A A YA AEYAN é?
A DD MDD AD_MD_ D DL _ DD DD _ DD
| 1\:‘:%-%-%:%-%:% : |%|%|%%%\é\ e
O DD AD_ D AD_CD DD DD
GaagaQaQeQOQaOQ OO
== L~ 2D —— e
== \\EE L =
15 |INSULATOR 1 |DIALLYL PHTHALATE — COLOR: GREEN
14 |CONTACT 44 |COPPER ALLOY GOLD PLATING NOTE 1
13 |PIN 2 |STAINLESS STEEL —
12 |SEMUSU-SCREW 4 |STEEL NICKEL PLATING M2.5
11 |SEMUSU-SCREW 2 |STEEL NICKEL PLATING M2.5
10 |PLATE #1 1 |STAINLESS STEEL —
9 |RIVET 5 |COPPER ALLOY NICKEL PLATING
8  [SEMUSU-SCREW 2 |STEEL NICKEL PLATING M3
7 |SHELL #1 1 |STEEL NICKEL PLATING
6 |LEVER #1 1 |STAINLESS STEEL —
5 |LATCH RIVET #1 2 |STAINLESS STEEL -
4 |CLAMP SADDLE #1 1 |STEEL NICKEL PLATING
3 [SHELL #2 1 |STEEL NICKEL PLATING
2 |LEVER #2 1 |STAINLESS STEEL -
1 |CLAMP SADDLE #2 1 |STEEL NICKEL PLATING
#e 5w B % M £ E W =
NO. DESCRIPTION QTy. MATERIAL FINISH REMARKS
f+4%2 (SPECIFICATION) %1 (ORIGINAL DATE) RE (SCALE) < 1) =X (SERIES)
JACS-3024 s 07/DEG/2009 1:1 QE BAMEETIEGRS | |
- Es
M R — BRATLD JAPAN AVIATION |
— %432 (GENERAL TOLERANCE) B |1 TAKESHITA /"‘\ ELECTRONICS H
] CHK. JAE 7
<tik QINENSION) |  FfE (ANGLES) [ p « HARIGATA QE4G044MO1 Z3%Z  INDUSTRY,LTD. |
) +0. 8 NG + APPD. : i
X +0.8 Xox’ + / AZ | £ NATSUNOTO X %5 (DRAWING NO.) e
XX x S s
e g (NIT) - o | 7 " (SHEET NO) v $J110350 2

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII| | | | |
10 20 30 40 50

JAE Connector DIV, Proprietary. Copyright(C) 2009, Japan Aviation Electronics Industry, LTD.



